Mat321 - Spring 2015 —Exam4

Instructor: Dr. Francesco Strazzullo Name

I certify that I did not receive third party help in completing this test (sign)

Instructions. Technology and instructor's notes (including the formula sheets from our book) are allowed on this
exam. Each problem is worth 10 points. Complete 2 of the 10 exercises in class and mark them. When using
technology describe which one you used or print out your worksheet. You are receiving two copies of this booklet,
one you take home and the other must be turned in with your two marked exercise. Please, submit the test online and
return your completed take home copy by Monday (4/20).

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

I. Find the limit of the sequence {ﬁ \/zﬁ m }
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2. Way=1anda, = f1+a, lornz | and lim = L is assumed Lo exist, then what must £ be?
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3. A rubber ball is dropped from a height of 10 feet and bounces to = its height aftler cach fall, If it continues (o
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bounce until it comes to rest, lind the tot: 1] distance in feel it travels.
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4. Find the sum of the series me ol Z’_ ‘(QSV)'H (Q[f}ra
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5. Find the interval of convergence of Z
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6. Find the interval of convergence ol Zu; (v+3)".
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7. Find the radius of convergence ol Z .
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8. Which of the folfowing is the power series centered at o = O lor f{v)= ?
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Note that one could manipulate the geometric series, writing 
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9. Find the coefticient of x* in the Maclaurin series lor f(v) =x cos(,\"” )
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10, Find the first four terms in the Maclaurin series for f{x)=ve ™.
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